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(Gamma distribution) A>0

( F?z)xo‘_l exp(—Ax) (x> 0)
0 (x < 0)

e
&
||

/ >t exp(—x)dz > 0
0
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f(x)
o f(x) 20
oy =)\x
/OOO r* texp(=A\z)dx = /OOO (%)a_éxp(—y)idy
= Aia OOO Yy exp(—y)dy
T
A&




o, A\
a=1
distribution)

E(X)=a/\
V(X) =a/)\
Mx(t) = (ﬁ)
Ga(a, A)
(exponential
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X, N(0,1)

X’ = f:Xf?
1=1

Ga(n/2,1/2)
Ga(n/2,1/2) n
(chi-squared distribution)
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(Beta distribution) a,3 >0
(2711 -2)P"1/B(a,8) (0<x<1)
flz) =< .

0 (otherwise)

b _ ['(a)l'(B)

_ a—1 . B—1 _
B(a, §) _/0 (1 —x)” “dx (ot 5)
U(0,1)
m
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@7
BlX) = a+ B
) %
R KGR =)
a, ﬁ BG(CK, 5)
a=03=1 (uniform
distribution of continuous type) U(0,1)

(

0<x<1)

1
fla) = <\ 0 (otherwise)




1 1
B
B(ot 3) /0 (1 — x)ﬁ_ldaz
1 a—1
B L0
o 1
3 B(a, )
o 1
3 B(a, §)
%{1 ~ B(X)}
B(X) = a+ 3

_|_
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(Cauchy distribution) a > (0

AR FES

X, Y
X/Y
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Ga(a, \)
Mx(t) =X\ —1t)~“
E(X)=a/\
V(X) =a/)\
E(X) = Mx(0), V(X)=Mx(0) - Mx(0)"
Be(w, ()
V(X) =

E(X*) V(X) = B(X?) —{B(X)}’



